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Chapter 8 Review

Name the polynomial based on degree and number of

terms:
3b®-9b% +2

Number of Terms
1 Monomial

2 Teinomial__| Cubic Trinomial

Trinomial

Degree
Constant

Linear
Quadratic
Cubic
& up | 4" degree

1 |w [N |- o

Name the polynomial based on degree and number of terms:

1

Number of Terms

Monomial

2

Binomial
3 Trinomial

Degree

Constant

Linear

Quadratic

FNJ[) [N 10}

Cubic

&up

4t degree

8t?-2

Quadratic binomial

Simplify and write in standard form. Then name based
on degree and number of terms:

(¥ Z3v+8)+ (2 +v-3)

—_—

Number of Terms
1 Monomial

o] 5V3'ZV+5

Degree

0 Constant M N H
e Cubic Hrinomial
2 Quadratic

3 Cubic

4 &up | 4% degree
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Simplify and write in standard form. Then name based
on degree and number of terms:

(4x® +3x + 1) - (-6x° + 3x - 2)

Number

2 Bin

of Terms - -

3 Trinomial

Degree

Constant

0

1 Linear 3

2 Quadratic X +
3

4

Cubic

&up | 4% degree

cwoic pinomial

Simplify and write in standard form:

4m(2m + 9m? - 6)

S + oM’ -21m

o 3,m> FIm*-24m

¢

Simplify and write in standard form:
-2n%(5n - 9 + 4n?)
_1Ov3 + 182 - B
avd

soin —Pn'=[0n” +13n"

Find the GCF of the terms. Then factor:

12p* +16p°+ 8p

CF

——
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Find the GCF of the terms. Then factor:

3 Fp(-Ih-5)

Simplify and write in standard form:
79+2)(3q+8
(Ta+2)(3q +8)

FO L Z'%zh%@ +lp
2.|6L‘|‘(02cb+”o

Simplify and write in standard form:

Fo’EL (w +2)(w +12)
WQHZV\] +2w +24
w>HH w +24

Simplify and write in standard form:

(3s + 5)°

Sguare double. sguare (3545){35"'5)
3%+ 30t 75 %%+ |Ss+/55+25
52+ 205425
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Simplify the product:

(2x + 3)(5%? - 4x + B)

10> -+ 12%
|5 —12x + 18

[0x>+Tx* +1

A rectangle has dimen s 3x+5 and x+7. Write

Z‘;’J.ynoz%“> i

PACL ISP,
X Flox 25

Factor:

11h*- 9h?

W(\\h-1)

Factor:

12h*b3- 4h%b

Y (3h*- )
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multiply

Factor:

x2+13x + 40

N (x5 )cr8)

3 >3‘<

_c7 <.,

i AN
=y 2(4-5+2)

,,,,'>z<z Z (@y*-loyy2x+ 3)
S Zx(2x -3)-1(2x-3)

2(2x-3)(2x )
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Factor:

2x2+13x + 15

Factor:
3x%-11x + 6

;‘é 2O 3¢ +15) L
g 2(x+S )+ D(xrs) (x-3Y3x-2)
2+ 3)(x45)
Factor Difg%(_"”‘“- Factor:
X Sgpaves 32x2- 8
Difference 3 ( le‘z i ) )

s (X9

§(2¢-1) (2x+)
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?dk C\’ Factor:
sq)uﬂ" 25x2 + 80x + 64
¥ ‘. “oml“l 52 (6'2
2
(’5#8)

Factor:

(Zx3 - 3x%- 8x - 12)

W (2x-3)4 (2x-3)

(xz H)(Zx—S)

Factor:

(15 + 25x 6x - 10)
5 (3x+’5 )-2(3x *5)
(5¢-2)(3v +’3>
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What is the first step when factoring a

polynomial?

Which factoring method is best when
there is a 4-term polynomial?

GYOULFV\j




